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General Instructions :

i)

ii)

iii)

iv)

V)

vi)

vii)

The Question-cum-Answer Booklet consists of objective and subjective types of

questions having 56 questions.

Space has been provided against each objective type question. You have to
choose the correct choice and write the complete answer along with its alphabet

in the space provided.

For subjective type questions enough space for each question has been

provided. You have to answer the questions in the space.

Follow the instructions given against both the objective and subjective types of

questions.

Candidate should not write the answer with pencil. Answers written in pencil

will not be evaluated. ( Except Graphs, Diagrams & Maps )

In case of Multiple Choice, Fill in the blanks and Matching questions,
scratching / rewriting / marking is not permitted, thereby rendering to

disqualification for evaluation.

Candidates have extra 15 minutes for reading the question paper.

Four alternatives are given for each of the following questions / incomplete

statements. Only one of them is correct or most appropriate. Choose the correct

alternative and write the complete answer along with its alphabet in the space

provided against each question. 1501 =15

1.

Ans :

The Act that changed the name Governor General to Viceroy during the British

rule was

(A) 1909 Indian Council Act

(B) 1813 Charter Act

(C) 1858 Government of India Act

(D) 1853 Charter Act.
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2. The Civil Disobedience movement was carried out at Ankola by preparing salt

under the leadership of

(A) M. P. Nadkarni

(B) Manjappa Hardikar

(C) R.R. Diwakar

(D) T. Siddalingaiah.

Ans :
3. Queen Victoria’s Proclamation of 1858 was called the “Indian Magna Carta”
because the queen promised
(A) torestructure the tax system
(B) to safeguard the rights of the people
(C) to give stable government
(D) to grant pardon to all Sepoys of India.
Ans :
4. The privy purse was granted to Indian princes
(A) to bring equality among all Indians
(B) to maintain their special privileges and status
(C) to merge all the princely states of India
(D) to partition India and Pakistan.
Ans :
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4

5. The reason for the end of Tokagawa’s rule was

(A) Diet was established
(B) Europeans started to trade with Japan
(C) attack on Pearl Harbour
(D) Meiji restoration.
Ans :
6. Hitler committed suicide because
(A) the German Army was thrown out of Belgium
(B) Russia attacked Germany
(C) England and France declared war on Germany
(D) The Allied forces occupied Germany.
Ans :

7. If Japan had not bombarded Pearl harbour then

(A)

Ans :

America would have remained neutral

large scale destruction would not have taken place

Germany would have won the war

Japan would not have surrendered.
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8. The mortality rate of children is high in India because of

(A) Lack of nutrition

(B) Social environment

(C) Obstacles in child welfare

(D) Illiteracy.

Ans :

9. The logo of SAARC in 1985 was a flower of seven petals. The petals symbolised

the seven

(A) Objectives

(B) Nations

(C) Representatives

(D) Restrictions.

Ans :

10. The South-West monsoon winds get divided into two branches due to

(A) Ferrell’s law

(B) Equator

(C) Western Ghats

(D) Shape of the Peninsular India.

Ans :
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11. Ihave trees with deep roots, thick leaves and thorns. I belong to

(A) Desert vegetation

(B) Tropical deciduous forest

(C) Mangrove forest

(D) Tropical forest of thorns and shrubs.

Ans :

12. T am used right from household utensils to artificial satellites. I am

(A) Manganese

(B) Mica

(C) Iron

(D) Aluminium.

Ans :

13. Cottage industries were encouraged by

(A) Indira Gandhi

(B) Mahatma Gandhi

(C) Rajiv Gandhi

(D) Jawaharlal Nehru.

Ans :

VIII V-E-712130



7 85-E

14. The correct list of paper industries which are located in Karnataka is
(A) Mandya, Nepanagar, Bhadravati
(B) Dandeli, Titagarh, Mandhya
(C) Bhadravati, Mandya, Dandeli
(D) Dandeli, Nepanagar, Bhadravati.

Ans :

15. The guarantee of compensation to farmers when crops fail is called
(A)  Crop guarantee (B) Agricultural guarantee
(C) Crop insurance (D) Farmers’ insurance.

Ans :

II. Fill in the blanks with suitable answers : 501=5
16. The first Chairman of the Planning Commission of India was ........................ .
17. The mangrove forests found in Gangetic deltas are called as ..................... .

18. The Scheduled Caste and Scheduled Tribes Commission was set up in the
VEAT ennenineineneieanenannnn. .

19. The country that became independent in 1963 A.D. under the leadership of
ODbOte Was ..ooevvviiiiiiiiiiiiiiiiieeee .

20. Thelast Peshwawas ........ccooeviiiiiiiiiiiiinn, .
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III. 21. Match the items in List-A with List-B. Write the correct answer in the space

provided : 501=5

List-A List-B

(a) Ryotwari System (i) Rajendra Prasad

(b) The Viceroy of India in 1909 AD (ii) William Bentinck

(c) President of Indian Constitution (iii) Chelmsford

Assembly

(d) Abolished Sati in 1929 AD (iv) Munro

(e) Established Depressed Classes (v) Vitthal Ramji Shinde

Mission

(vi) Ambedkar

(vii) Tarabai Shinde

(viii) Minto

Ans.: a)

e)
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IV. Answer the following questions in a sentence each : 9x01=9

22. What is Cold War ?

23. Which was the Capital of Portuguese possessions in India ?

24. Why should we purchase only UNICEF greeting cards ?

25. Why is there a setback in the SAARC ?

26. What are Mango showers ?
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27. What is the main aim of Vanamahotsava ?

28. How did Chinese economy improve in 1958 AD ?

29. What is Green Revolution ?

30. Why was EXIM Bank started ?

V.  Answer the following questions in two sentences each :

31. Why did the British attack Tipu in 1799 AD ?

16 © 2 = 32
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32. What are the achievements of Dewan Rangacharlu ?

33. How did the Industrial Revolution in Europe affect the Indian Cottage

Industries ?

34. What were the provisions of the Indian Councils Act of 1909 ?
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35. How was no taxation campaign launched in Karnataka ?

36. Why did Sardar Patel decided to launch police action on Hyderabad ?

37. Who formed the triple alliance during First World War ?
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38. Why did America attack Afghanistan in 2002 AD ?

39. Which are the programmes launched by the Government for the improvement of

the conditions of women in India ?

40. What are the main functions of FAO ?
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41. Why was not India ready to sign the Nuclear non-proliferation treaty ?

42. Where is the Nuclear power plant situated in Karnataka ? Why was there a

protest against it ?

43. “Most of the Agrobased industries are concentrated in central Gangetic region.”

Why ?
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44. What are the advantages of pipeline transport ?

45. Why are cottage industries best suitable for rural areas ?

46. How did the Sixth Five-Year Plan try to provide social justice ?
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VI. Answer the following questions in six sentences each : 63 =18

47. How can a retailer satisfy the consumer ?

48. Differentiate between Red soil and Regur soil.
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49. How can Black marketing be checked ?

50. What were the causes for the failure of first War of Indian Independence ?
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51. Why could not the French establish an empire in India ?

52. Why are monsoon countries best suitable for the cultivation of paddy ?
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VII. Write the answer to the following questions in about eight sentences each :

304 =12

53. Explain the role of Bal Gangadhar Tilak in the freedom movement of India.
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54. “Relationship between India and Pakistan has not improved since

Independence.” Why ?
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55. How does Indian agriculture help in the economic development of India ?
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VIII. 56. Draw an outline map of India and locate the following places on it : 1+3=4
a) Palk Strait
b) Vishakhapatnam

c) Bhakra-Nangal.
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Alternative Question for Blind Candidates only : ( In lieu of Q. No. 56 )

What is the role played by the Himalayas in the life of Indians ? 4
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